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3 ~ Figure 1 illustrates the situation facing the publisher of the only newspaper containing local news in an
isolated community.(35%) v
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(1) On the graph, mark the profit-maximizing quantity and price and the publisher’s total revenue per day.
(10%)

(2) At the price charged, is the demand for this newspaper elastic or inelastic? Why? (5%)

(3) Draw a graph to illustrate and calculate the consumer surplus from newspapers and the deadweight loss
created by the monopoly. Explain why this market might encourage rent seeking. (10%)

(4) If the newspaper market were perfectly competitive, what would be the quantity, price, consumer
surplus, and producer surplus? Mark each on the graph. (10%)

4 ~ In the United Kingdom, the currency drain ratio is 38 percent of deposits and the reserve ratio is 2 percent.
In Australia, the quantity of money is $150 billion, the currency drain ratio is 33 percent of deposits, and
the reserve ratio is 8 percent of deposits. (10%)

(1) Calculate the U.K. money multiplier. (5%)
(2) Calculate the monetary base in Australia. (5%)




